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Solve. 

        
 

Jayden buys 4 packs of wrestling cards.  Each pack 

has 6 cards.  He gives 12 cards to his friends.  How 

many cards does Jayden have left? 

Round to the nearest 100. 

 

546     ______ 

 

89     ______ 

 

2653     ______ 

 

655       ______ 

Use the distributive property to 

solve. 

12 x 4 = 

( __ + __ ) x 4 = 

(__ x 4) + (__ x 4) = 

_____ + _____ = ______ 

 

Nathan’s game ended at 11:15.  It 

lasted 45 minutes.  Show the time 

the game started on both clocks. 

 

 

   

Name:_________________________

 
Week 8 Day 1 

 

658 

+ 254 

924 

- 582 

6548 

+  358 

Mrs. Mitchell needs 24 pints of ice cream for her  

party.  8 pints of ice cream come in 1 box.  How many 

boxes of ice cream does Mrs. Mitchell need? 

Write a multiplication and division sentence that will 

help you answer the question. Use n for the unknown. 

 

___ x ___ = ___          ___ ÷ ___ = ___ 

 

Skip county by 5, 6, 7, and 8. 

5, ___, ___, ___, ___, ___, ___, ___, ___, ___ 

6, ___, ___, ___, ___, ___, ___, ___, ___, ___ 

7, ___, ___, ___, ___, ___, ___, ___, ___, ___ 

8, ___, ___, ___, ___, ___, ___, ___, ___, ___ 

Create an array, tape diagram, and number bond 

for the problem above. 

 

  

 

 

4, 8, ___, ___, ___, ___, ___, ___, ___, ___ 

 

2 x 4 = __     4 x 4 = __     6 x 4 = __     8 x 4 = __   

10 x 4 = __    3 x 4 = __     5 x 4 = __     7 x 4 = __  

 

__ ÷ 4 = 2       __ ÷ 4 = 4     __ ÷ 4 = 6     __ ÷ 4 = 8 

__ ÷ 4 = 10      __ ÷ 4 = 3     __ ÷ 4 = 5     __ ÷ 4 = 7  

Week 8 Day 2 



Draw and divide an array to demonstrate the          

distributive property of multiplication.  Solve. 

6 x 15 = 

(6 x 10) + (6 x ___ ) = ____ + ____ = _____ 

 

 

What is the difference between the numbers. 

13 and 19        _____ 

24 and 32        _____ 

50 and 30        _____ 

9 and 0        _____ 

15 and 15        _____ 

Round the numbers to the nearest 10. 
 

56 ____          426 ____ 

4521 ____       253 ____ 

64 ____          42 ____ 

458 ____        659 ____ 

95 ____          27 ____ 

Write the number in word form. 

3,487 

 

________________________ 

 

________________________ 

Complete the input-output box.   

Americus emptied her piggy bank and found 36     

quarters.  How much money does she have?  Make a 

tape diagram to solve. 

 

Americus spent $3.50 on snacks for her puppy.  How 

much money does she have left? 

Name:_________________________

 
Week 8 Day 3 

Finish labeling the number line below to show the minutes in an hour.  Plot 3:30 on the number line 
and label it B.  Plot 3:53 on the number line and label it C.  How much time is between the point B and 

point C. 

 
Week 8 Day 4 
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Input Output 

 7 

 8 

 9 

Rule  ÷5 

0 60 

3:00 4:00 



Use groups to solve. 

53 ÷ 7 = n 

  

Solve. 

                             

Circle 7/11 of the dimes below. 

How much money is circled? 

_______ 
  
 

 

 
 

What fraction is not circled?  ___ 

 Each side is 8cm in length.  What is 

the length of all sides together?  

Write a multiplication problem to 

solve. 

 

                          ___ x ___ = ___ 

Name:_________________________

 
Week 8 Day 5 
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Week 8 Day PT 

4x1 = __ 4x2 = __ 4x3 = __ 4x4 = __ 4x5 = __ 4x6 = __ 4x7 = __ 4x8 = __ 4x9 = __ 4x10 = __ 

5x1 = __ 5x2 = __ 5x3 = __ 5x4 = __ 5x5 = __ 5x6 = __ 5x7 = __ 5x8 = __ 5x9 = __ 5x10 = __ 

6x1 = __ 6x2 = __ 6x3 = __ 6x4 = __ 6x5 = __ 6x6 = __ 6x7 = __ 6x8 = __ 6x9 = __ 6x10 = __ 

7x1 = __ 7x2 = __ 7x3 = __ 7x4 = __ 7x5 = __ 7x6 = __ 7x7 = __ 7x8 = __ 7x9 = __ 7x10 = __ 

3x1 = __ 3x2 = __ 3x3 = __ 3x4 = __ 3x5 = __ 3x6 = __ 3x7 = __ 3x8 = __ 3x9 = __ 3x10 = __ 

2x1 = __ 2x2 = __ 2x2 = __ 2x4 = __ 2x5 = __ 2x6 = __ 2x7 = __ 2x8 = __ 2x9 = __ 2x10 = __ 

$92.43 
+ $  6.53 

$84.87 
 - $32.62 

Input Output 

 40 

6  

7  

Rule  x8 


